
From now on
,
assume A is finite . Label the elements

of A as { I
,
2
,
3
,
- - - i n }

[
these are the things being permuted ,
not the permutations .

Sn denotes the permutation of A

Note : Isn I = h (n - 1) ( n - 2) - - - - 3.2 . I = n !



Notation (example
-

bijection
L

Sy = { permutations of

⇐ a
, ft S4

all) = H2) -- a(3)= 214) --

foll ) = plz) -- fl3) = pH )
-

-

a permutation
→
-

e. g . Lap) Cz) =

(Ga) (2)
=

g-
a permutation

Note: since Xp)Cz) t platz)) ,
we conclude that

as elements of S4 . So So
,
is ing abelian.

I
not equal as permutations lie . functions)

{ I
,
2
,
3
,
4} }

4 3 2 I

2 3 I 4

a (plz)) = a (3) = 2
.

T

PK G)) = ppg = ,

←
not same

@a) 12)
-

xp tea


